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from itertoo
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Red Box average tumes: 15

Blue Box average tumes: 12

Green Box average tumes: 18
st Yellow Box average times:

print("Red B
redBox = []

redBox.extend(repeat(10, 42)) Blue Box average times:
redBox.extend(repeat(100, 3)) Green Box average times:

Yellow Box average times:
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import pandas as pd

import random

. Python #4748 %
sample list = []

round_num = 188

person_num = 18 round money
for person in range(l, person_num + 1):
money = 1@ person
for round in range(l, round num + 1): 1 64 8
result = random.randint(e, 1) 2 166 14
if result == 3 0@ a
monay = money + 1
elif result == 4 166 16
money = money - 1 g 25
if money == &: 6 100 14
break
sample list.append([person, round, money]) L 1ea &
3 /8 e
sample df = pd.DataFrame(sample list, columns=['person’, 'round', ‘money']) g 53 B
sample df.set index{'person’',inplace=True)
1@ 18 a

print{sample df)
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import random

import numpy as np m -IFl:‘.i- E E E'.'J '1-ﬁ E'f {E- E . 253 - EE‘E431

-_ parameters = [11_, ,*.;. 1.1'_ '_‘F E -H ﬁl 12 - *: !-Fﬁ Eﬁ ?E'j ﬁ EI:F:- H E E-.] 1é EJF'{E h : .‘?Eqiﬂ?
g BEFESENESTES : 69.0778

YERE1 EERE2BERESNEES ; 0.784975

count = @ HBEEHENGTES @ 282.86856
1 - B R 10 FEBMAMINEEREMNGEES - 0.785746

np.random.uniform(

X
¥

SORRRCNECE T 5 [ 7 A S AT RS ¢ 156,948
= ik EHES- YEHSIEEFEENEIES ;- 0.78474

23 : : > Console v x &) Shell x <4

24 probability = count / n

2 WEGAMOEAES : 263.688432

0 ¥EWNELR ¥EEHATMNEEESENEHES
7 area @ a b count n

BEETERNESTES : 69.0778
= BN FEREEMEEREBENGETES

} ¥REE{INBERBENEISTES  {}".format(a, b, probability)) WEFHRNBERES : 282.86856
¥EMRN YERAMBEERENEHER

mEFA®GEETES : 156.948
El]iﬁiﬁh!i- FRESIMEREERENETES

t = np.linspace(®, 2 * np.pi, 1000)
34 ELll = np.array([a * np.cos{t), b * np.sin(t)])
5 R_rot = np.array([[np.cos{np.pi / 4), =-np.sin{np.pl / 4)], [np.sin(np.ptl / 4), np.cos(np.pi /
4111)
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